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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-V ¢ Examination — WINTER ¢ 2014

Subject Code: 3352904 Date: 04-12-2014
Subject Name: Production Planning
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
Q.1 Answer any seven out of ten. 14
1. Write down formula for tex.
2. Convert 40° Ne count into Denier.
3. Find out warp cover factor if yarn count is 40°Neand EPI = 88.
4. Write down formula for resultant count in Indirect system.
5. Iftwo yarn of 30° Ne & 20° Ne are double together find resultant count.
6. Convert 30° Ne count into metric.
7.  Define the term Reed count?
8.  Find out length on yarn on bobbin if yarn count is 30s Ne and weight of yarn

on bobbin is 60 grams.
9.  Find out diameter of yarn for a given count of 20° Ne.
10.  Write down formula for English count.

Q.2 (a) Calculate the production of comber machine in Kgs from the following data. 07
Feed/nip = 5.0 mm, Nips/min = 420, Lap weight = 66 gms/mts, Noil= 18%,
No of heads = 8, Efficiency = 90 %, Working hours = 08.
OR
(a) Calculate time required for completion of one lap and no of lap produced from 07
the following data. Speed of lap roller = 10 rpm, Diameter of lap roller = 10
inch, Length of lap produced =44 yards, Cleaning time = % hours, Doffing
time = 12 second, Working time = 8 hours.
(b) Calculate time required to fill one can in carding machine from following data. 07
Doffer diameter = 27 inch, Doffer rpm = 30, Weight of card sliver in can= 10
kg, Hank of card sliver =0.130, Tension draft = 1.04.
OR
(b) Find out the average count of mill from the following data. 07
20° count — 1800 Lbs production, 24° count — 2400 Lbs production,
30° count — 600 Lbs production, 44° count — 200 Lbs production.

Q.3 Calculate no of ring frame spindle and speed frame spindle required for the 14

production of 3000 kgs yarns of 30° Ne per shift. Assume suitable data.

OR
Calculate no of looms and sizing machine required for the production of 30000 14
yards of shirting fabric per day. Assume suitable data.

Q.4 (a) Calculate the weight of warp and weft in a given piece of fabric from the 07

following data. Tape Length = 106 yards, Piece Length = 100 yards, Reed
space = 50 Inch, Reed count = 72° Warp count = 405, Weft count = 40°,
Picks/inch = 80, Selvedge ¥ inch on both side, No of ends /dent =4 for
selvedge & 2 for body.

OR
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Calculate time required to prepare one warping beam and weight of beam from
the following data. Speed = 600 ypm, Length of yarn wound on beam = 12000
yards, No of ends =450, Count of yarn = 50° Efficiency = 60%.

Draw layout plan for the following machine (any two)

(1) 20 cards (2) Ruti 24 auto loom (3) 24 airjet loom

Calculate the production of loom from the following data. Speed = 850 RPM,
PPI1= 54, Efficiency = 90 %, Working hours = 08.

Calculate time required to build one cone on winding machine from the
following data. Winding speed =1100 ypm, Weight of cone = 2.5 kg, Count of
yarn = 50, Efficiency = 65%.
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